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in[1]= (*ReSenje obiclne DJx)
solutionl = DSolve[x ' [t] =x[t] +2xt-3, x[t], t]

oufl= {{x[t] »1-2t+efcs1}}

In[2]:=

(*KoSijevo resSenjex)

solution2 = DSolve[{x'[t] =x[t] +2xt-3, Xx[@] =2}, x[t], t]
oupl= {{x[t] >1+e-2t}}
In[3]:=

(*Jos jedna DJx)
solution3 =DSolve[txXx'[t] -2xt*Sqrt[x[t]] = 4xx[t], Xx[t], t]

22ttt el?))

oupl= {{x[t] >t
Inf4]:=
(*xUproscavanjex)
solution4 = FullSimplify[solution3]

oup= {{x[t] > 12 ( 1~t(1\2}}

In[5]:=
(*Sistem DJIx)
solution5 = FullsSimplify[DSolve[{x'[t] == y[t] -z[t], y'[t] ==x[t]~2+y[t], Z'[t] = x[t]1”*2+z[t]}, {x[t], y[t], z[t]}, t]]
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outsl= {{x[t] »>e" B 1 cq, yIt] >

In6]:= |
(xBez FullSimplifysx)
solutioné = DSolve[{x'[t] == y[t] -z[t], y'[t] ==x[t]1”*2+y[t], z'[t] == x[t]~2+2zZ[t]}, {x[t], y[t]l, z[t]}, t]
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